Linear Ineqgualities

True or False?

For each statement, circle the correct response.

1 re;reesiennet%é?)iit;eiu3miger O 1 2' 3 4 5 f's True False
2 IZSrlenseeﬂ%E?it:eﬁuSm:)l;elf ('} ?T? ; 5‘ E'j True False
3 The integers 2,3 andx4<all45atisfy the inequality P False
4 | USRI Te | Fase
5 The oiwlly gt;gir;oaizti;fy;bitg igeiciu;.lities True False
6 The solution to tit;exin>eq2uality x—3>5 e False
7 The solution to i’;h)ec i;eiusality —4x < 20 True False
8 The solution to thiz i;e<qu7ality 20>3x—1 True False
9 The integers —3, —_ZZa;dx—_: fll<s%tisfy the inequality T False
10 The solution to itshii1ne2<:|tjcali>ty7—8 <8x <56 e False
1 1 The solution to the inequality 2x — 4 < 6 — 3x < 21 True False

is—5<x<2




